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Introduction

The Office for National Statistics (ONS) has started a project to
provide a measure of productivity in the provision of public services.'
This article provides a first progress report on this new initiative. It
describes - through some examples — how productivity might be
measured in this context and includes indicative results for some
areas. In addition, the article explains where public services fit into
the national accounting framework, defines productivity and
examines the related concepts of government inputs and outputs,
The work is still at an exploratory stage: the purpose of this article is
to exposa the principles with the help of soma preliminary numbers.
The eventual aim is to produce reliable estimates of productivity
change and to publish them regulatly.

What do we mean by the provision of public services?

Public services are defined as those activities carried out by
government which meet the needs of individuals, businesses or the
community as a whole. The services provided are of two types:
individual and collective. Defence is an example of a collective
service: it is defivered simultanequsly to many people whether or
not they know they are receiving it. An individual service is
consciously consumed by cne or mere people; exampies are
gducation and government-provided health treatments. Excluded
from the national accounts definition of govermnment are the following:

»  Services provided by govermment for which the customer pays
the full cost. In the naticnal accounts, these are deemed to be
preduced outside the government sector by a quasi-market
organisation. Examples of these activities are the provision of
housing and of passports.

*  Services that are heavily dependent on funding by government
but are produced and sold outside government (e.g. rail setvices
and care homes}.

But included arg:

= Those services for which government makes a charge, so long
as that charge is not economically significant (such as the sales
of this journall)

Government activities piay a major partin the economy: they feature
prominently in both the expenditure and the production measures of
gross domestic preduct. Where is the provision of public services
identified in the national accounts? To show the answer in context,
the main expenditures of government are identified in this table:

Table 1

Main expenditures of What it contains

government, SNA

identifier (2}

and % sharg year

2000

Subsidies 03 1% current unrequited transfers made to
producers to influence their output,
prices or costs

interest D4 7%  payment fo service a debt

Transfers D7, D9, D62 41%  unrequited at the time they are mads
{though perhaps may be subjecl to
contributicns having been made in the

past)
comprises the cost of {abour, non-capital

Final consumption ~ 48%

expenditure P3 purchases and the cost of funning down
capital equipment; often referred to as
gross government output

Gross capital 3%  acquisition of plant, machinery, vehicles,

formation P5 newly-built structures







also any services bought from other parties which are provided free
of charge (or at little cost) to people: an example of this is hosgital
treatments which are bought by government from public corporations
{e.g. hospital trusts). The production and provisicn of such goods
and services is a part of government output. Cash payments made
to people (e.q. social security benefits) are a transfer rather than an
output of government, But the operational process of providing these
{ransfers is a sarvice and hence an output.

Examples of productivity measurement

* A prison which has a capacity of 150 contains only 100 inmates.
With the arrival of an extra prisoner, the prisen will generate
1 per cent more output. But it is likely that any increase in the
prison’s inputs will be fess than 1 per cent, Productivity will go
up mainly threugh higher capacity utilisation.

*  Two offices processing social security claims are merged in a
new location; the new office performs the combined work of both
old offices, but does not require the combined staff numbers.
The volume of outputs is therefore unchanged, but the volume
of inputs is lower because only one manager is required, and
one telephene operator, one photocopying machine, etc.
Productivity will be higher because economies of scale have
been obtained.

+  Ahospital buys a new machine to perform eye surgery. l doubles
the number of treatments performed daily for enly a small
increase in the level of inputs. Productivity has gone up as a
result of exploiting a technical advance.

These are examples of how productivity can go up in everyday
situations faced by governments. Using estimates of the volume of
inputs and outputs, praductivity change can be monitored over time.
But there are other issugs to consider. We need to ensure that the
estimates will be accurate enough. And we need to consider what
interpretation it is sensible to put on such results. The remainder of
this article outfines the main measurement and interpretation issues
and how it is proposed to solve them so as to measure productivity
change. They are:

* How to define inputs and outputs in volume terms;

+ How te measure inputs and outputs in volume terms;

+  How to cope with the fact that government output has a zero
selling price when — as is usual - it is provided free;

* How to ensure that our estimates of output volumes reflect any
change in the quality of government services;

= How 10 ensure the accuracy required of these estimates.

Productivity indicators: what they are not

A faw points about these indicators described in this arficle and what
their limits are;

» They do not measure productivity levels: they measure the
progress of each function over time using index numbers.

*  They do not measure outputs that sheuld have been produced
but were not — for example, hospital treatments which are
deferred for lack of resources, or crimes which the police did not
investigate because thay were not reported. It is recognised that
“what was not produced” is often a matter of public interest.

+  They do not measure “outcomes” — states which are the result
of several influences. A lower crime rate is an example of an
outcome: achieving it may require the police output described in
this article as well as other factors such as a decrease in the
number of opportunities available to commit crimes.

» They do not suggest that high productivity is, without qualification,
a good thing, especially in government. The productivity of
prisons increases as the number of inmates increases. [t does
not follow that there shouid be a goal of filling jails to capacity
although it may be a sensible policy to try to match capacity to
demand.

= They are not measured with absolute accuracy.

Measuring the volume of government inputs -— some
practical illustrations

Govemnment output is produced with the following inputs: labour,
intermediate consumption and capital. These are measured by the
cost of:

* pay,

»  procurement of the goods and sarvices required for production;
and

+ depreciafing the piant and equipment used in production.

The money values of these components must be adjusted so that
the effect of inflation is taken out leaving the changes in the volume
of inputs. These estimates are then combined to form the total volume
of inputs. The "deflation” process is carried out separately for each
functional category being measured (education, health, police etc)
and for each economic category (pay, procurement etc). This is
possible thanks to:

+ the detailed accounting data maintained by central government
depariments;







































































































































































































































